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tions (Q. Nos 1 to 39) by selecting the correct/most appropriate options.
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Teachers should provide €motional support to children in the classrooms to énsure
effective learning, '

~ Reason (R) : ok, Emotions and co

gnition are relateq t@th other in ¢
Choose the correct option,
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(2)  Both (A) ang (R) are true ang (R) is the correct explanation of (A).
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(A) is true but (R) is false. .
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(3) Both (A) and (R) are true byt (R) 1_ ‘ﬁxplanation of (A).
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2) The teacher is the primary source of knowled 0w V. -} ik
41 The teacher serves as a facilitator. e

) The teacher implements the prescribed curriculum st is'
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Which of the following, is correct in context of gifted children ?

/(ﬂ Gifted students learn at comparatively advanced pace than other students.
(2) Gifted children are free from risk of learning disability-
(3) Gifted children certainly excel in all areas academic, social and emotional.
(4) Gifted students are always happy. popular and well adjusted.
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As per Jean Piaget, pre-operational stage is clmrﬁmdfﬁzﬁabilities to perform :

4rf  Symbolic play and animism (2) Cla tion and seriation
(3) Conservation and abstract thinking (4 Imitdtion and reversibility
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What is the primary purpose of asking critical thinking questions ?

(1) To encourage students to memorize information. £ {5
() To enable students © develop procedural knowledge
A3 Toassess students’ knowledge and understanding SKis.

@ To promote higher-level thinking and pmblm-sol%g}sklﬂs.
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10.  According to Lev Vygotsky, children regulate their gy . through the's
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Preconceived generalizations about behavigyy of various gender are called :
(1) Gender typing

(3) Gender discriminations Gender stereotypes
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In an inclusive classroom : L
(1)  All children follow same curriculum and uniform pedagogy is adopted for all learners.
(2) ‘Special children’ always work on their eir-own curriculum.

(3)  All children have access to and are included in classroom activities.

(4) ‘Special’ children are looked upon as ﬁeedy and dependent.
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According to Lev Vygotsky’s theory, which of the following is a recommended approach in order
to optimize students’ learning experience * —

(1) providing students with work that tBELcan marlage and complete individually.

(2) providing students with work th&ﬁs completely unrelated to their current level of
understanding. £

(3) providing students with work that i __ beyond then' current level of understanding, with
appropriate support and guidance. = -

(4) providing no support to students aan_zavmg them to struggle on  their own. .
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When presented with Heinz's dilemma, Arunima reasons : “The law wasn’t set up for these
circumstances. Taking the drug in this situation isn't really right, but it's justified.”

Which stage of moral development is Arumma according to the theotry of Lawrence Kohlberg ?
(1) Instrumental purpose and exchange-= =

(2) Social concern and conscience _;;
(3) Morality of contrast, of individual rlg}ﬂg and of democratically _

(4) Orientation towards punishment and ebedience accepted law
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in mathematics A: s “Tjust don’thave the sense fo
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Assertion (A) : While some children start babbling and,utlzermg two word sentences at 12 months,

others don’t do this till they are 20 mﬁ_nths old.
Reason (R) : Development milestones are only suggestlve and development of individual
children can be quite varied.

Choose the correct option.

(1) Both (A) and (R)-are fglse.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A). -
(4)  (A) is true but (R) is false,
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Which of the following is.nut a characteristic of a well-formulated critical thinking question ?
(1) Tt promotes higher-level thinking and problem-solving skills.
(2) Itis open-ended and allows for multiple answers.
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(3) It is based primarily on factual information.
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(4) It requires analysis and evaluation of informa
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\ A) : Teachers should constant] . : ; :
Assertion (A) oty chidie ¥ €xamine their own attitudes and biases while working

Reason (R):  The process of problem-solving g 1r: : - .
Choose the correct option. g 1s hindered by functional fixedness.
(1) Both (A) and (R) are false.

2) Both (A) and (R) are true and (R) is the ¢ ‘

((3)) Both (A) and (R) are true but (R) orrect explanation of (A).

(4)  (A) is true but (R) is false. % the correct explanation of (A).
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21. Assertion (A) : Classroom pedagogy should be culturally responsive to meet the needs of students
from diverse cultural backgrounds.

Reason (R):  Equity in classroom can be ensured only through standardized curriculum and
assessment. =

Choose the correct option. ‘*:f's . _

(1) - Both (A) and (R) are false. S e :

2)

Both (A) and (R) are true and (R) ig-the correct explanation of (A).

(3) Both (A) and (R) are true but (R) 15?@9): the correct explanation of (A).
(4) (A) is true but (R) is false. e sl
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Howard Gardner’s concept of Intelligence implicates that :

(1) intelligence is only about ‘practical“Tearning,. :

(2) everyone processes and understands, the world in the same way.

(3) human beings differ in their abilities in different domains.
(4) * intelligence has only one dimensioft |
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23.  Which of the following is not an effective memory technique for meaningful learning ?

(1) Elaborative Rehearsal (2) Rote Rehearsal

(3) Mnemonics (4) Concept Mapping
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24. Which of the following sequence of represer jl n of concept is in accordance with childrer’g
gradual development of cognitive abilities 7 %7 2

(1) symbol-based, image-based, action-base
(2) action-based, image-based, symbol- baSe
A27 image-based, symbol-based, action-based _
(4) symbol-based, action-based, image- basea=
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(3) Sfa-miE, Hwa-snufa, BFa-snafa
(4) Who-efE, fn-sm, Sfa-enaf

25. Assertion (A) :

ﬂ..

Teachers should focus on asking questions in classroom and encouraging children
also to ask questions rather than giving instructions.

Child-centred pedagogy means. _giving opportunities to children’s voices and
ensuring their participation. ===

Choose the correct option. <
(1) Both (A) and (R) are false. + '

—42) Both (A) and (R) are true and (R) is themrrect explanation of (A).
(3) Both (A) and (R) are true but (R) is not The corre-::t explanation of (A).
(4) (A) is true but (R) is false.
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26. Jagriti has learned that her dog, Rusty, is a G Tden Retriever, When she sees another dog th

looks similar to Rusty but is a different breecLT she calls it a dog too, According to Jean Piaget!
theory of cognitive development, which concept ¢ does this demonstrate ?

Reason (R) :
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(1)  Assimilation (2) Epotentrism
3) _ Object permanence (4) Conservation
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ral children, those who experienced severe (human) social deprivation since very

ually have delayed or hindered development and despite rehabilitation the improvement in

rtain domains of development is likely to be subordinate. This period wherei i
gniﬁcanﬂy o W i bt Ca"e& pe rein development is

young age
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Repetitive and ritualistic behaviour is an idenﬁf§mg characteristic of :
(1) Cerebral palsy

(2) Autism Spectrum Disorder

(3) Learning Disabilities

(4) Attention Deficit Hyperactivity Disorder
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Which of the following would support conﬁ;iluoi:%s and comprehensive evaluation 7

(1) Standardized intelligénce test # (2) Bestworks portfolio
—£3) Growth and learning progress por’cfo1io%‘;l_gii (4) Standardized achievement test
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. ’i!t;\lflﬂaich of the following is correct about the process of learning, according to socio-constructivist
ories ? 4

(2) Learning is an individualistic process th ;:c;ciccurs in isolation.
(3) Learning occurs only in a classroom or formal educational setting,
(4) Learning is a passive process that occurssolely through observation,
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~1) Learning is a social process of meaning gm_king.
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